Efficiency vs dr

x 12
<
[
>
> 1
)
c
Q
o
£ 0.8
()
0.6
0.4
0.2
o J..\.e [ T 717
= 5 DUM_XIMITUS_origin
o] [ | —— DQM_XiMinus_newbranch_lowp
o [ —_— D8M XiMinus_original_| |°WP Less
1 -|—— DM X|M|nus newbranch owpt_plLess
0.950—— : mmmmm‘]mmmmﬂm

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
0.5

P, jet
o
. D

0.35

o
w

0.25

eff|C|ency vs AR(T

I
[N

0.15

0.05

[y

107 1072 107
AR(TP, jet)

Efficiency vs pu

efficiency vs PU
o o

© w @ » ©

W b O

2 4 6 8 10 12 14 16 18 20
Pileup

o
o



	Contents
	Page 1


